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1.
Ppr=10° x 0.3 x (0.6 x 1) = 1.8 x 10? kg
Prr, = 0.80 x 10° x 0.6(1.2 x 1) = 5.76 x 10? kg
Pret = Py — Pug = (5.76 — 1.8) x 10% = 3.96 x 102 kg to left
1 1 t 41
Pyrnet = 10°(5m x 1.2% = 2 % 0.6 x 1.2 x Sq; 3 08 x 10%(77 x 2) x 1 — 200
= (0.44 + 0.90) x 10% = 1.34 x 10 — 200 = 1,140 kg upward
2.
V2
1.5+0+0:0+0+%, Vs =/2g x 1.5 =5.42 m/s
1 1
%x%xo.ofzvgxgxo.m?, Vo= (3)* x Vi = ; x 542 =136 m/s
V2
P2 72— 0.094m —0.0094 kg/cm?
gl 29
Q = 5.42 x % x 0.022 =17.0 x 107* m*/s = 1.7L /s
3.

Vy = 29(H+1%)

Q = Ay [29(H + %)
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2Q = CAQ\/QQ(H+ w)
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Ap PL—p2
7 = 3(H + )? Pi(initial) = Par P2 = Pa
Ap

= =3H=3x5=15m, 1.5 kg/em?
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